10

Rat

a(6 @) (rad)

=
S
w

a0 p,/p,)

2 -
—1 2 3
10 1 TPl[g)T (PCA f%)obeamlinép
I S 1 R SRTTRTRE

10—2 L -nmi L ---mi L A Lo
SR U — Rdlcas
O R RRRETTEE
0.6f---ncnne-  REREE RS EY S N U
10 1 10 T
TP, (PCA t%) beamllne)O

10t 1

2 3
TPlpoT (PCA t%obeamlinélf)

(SN
<

a(d cot(B))

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_OctoberVersion

= . .
£ : :
o Fooeeeeeas T Y
e : :
= : :

> .

x
o I SRR Y O
o
o]

1072

1 - ------------

z

=
<
W

o(d d.) (cm)

+

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


